In this paper we will talk about | numbering system | want to invent which is based on
(the knowledge of true and false being 1 and 0O (true and false

Lets take a look at our hands it has 10 fingers which uses the decimal system its ok

Lets take out the true and false which are the 1 and 0 (one and zero) from the
decimal system leaving eight numbers whichare 23 456 7 8 9 but first lets take a
look at how | thought of this

These are 10 mathematical stuff made from 1 and O or the true and false below
true fact or something)  1*0/1*1=0 0*1/1*1=0 0*0/1*1=0)1=1*1/1*1

not understood 1*1/1*0=not understood 1*1/0*1=not understood=0*1/0*1
0*1/0*0=not understood 1*0/0*0= not understood  0*0/0*0= totally not
understood

When looking at this you see that if you take the true and false which are 1*1/1*1=1
and 0*0/0*0=totally not understood you are left with 8 of the 10

Now to see how you can apply this new numbering system you should look at what
follows

Lets start counting in this numbering system with 2 and end with 8 so we say 2345
6789

Lets do this mathematical trick 2*3*4*5/6=120/6=20 which is 2*10=20
?Lets try an easier one which is 3*4*5/6=60/6=10 you see the trick

Adding a truth to false and another truth(which is my theory!!!') which all amounts to
3 (2 truths and one false) which starts with 3

in this one you get to the numbering system in your hand or 10 in the second easier
mathematical trick and also in the mathematical trick starting with 2 ends with 20



